INTERMEDIATE EXAMINATION 2019 (ANNUAL)

MODEL SET

CHEMISTRY (= eme)
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Instructions for the candidates :-

Candidates are required to give answer in their own words as far as
practicable.
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Figure in the right hand margin indicates full marks.
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While answering the questions, candidate should adhere to the
word limit as far as practicable.
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15 Minutes of extra time has been allotted for the candidate to read
the question carefully.
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This question paper is divided into two sections: Section-A and
Section-B
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In Section A, there are 35 objective type questions which are




compulsory, each carrying 1 mark. Darken the circle with blue/black

ball pen against the correct option on OMR Sheet provided to you.
Donot use Whitener/Liquid/Blade/Nail on OMR Sheet otherwise
result will be treated as invalid.
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In section-B, there are 18 short answer type questions (each carrying
2 marks), out of which only 10 (ten) questions are to be answered.
Apart from this there are 06 Long Answer type questions
(each carrying 5 marks), out of which 3 questions are to be answered.
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Use of any electronic device is prohibited.
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SECTION-A (Objective Type Questions)

Gug—a (IS ue)

In the following questions no. from 1 to 35, there is only one correct

answer against each question. For each questions, mark (darken) the cor-

rect answer on the OMR Sheet provided to you. (1x35=35)
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1.

How many types of Crystal are found ?

A 2 B.6 C.4 B
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3. 2 9.6 9. 4 g 3
Which of the following bond is found in H,O (ice)?

A. Hydorgen bond B. Metallic bond

C. lonic bond D. All
HQO(W)ﬁﬁwwzﬁaWﬂtrrﬂwﬁ%?
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One Faraday of electricity is equal to how many coulombs ?

A. 96500 B. 96550 C. 94500 D. 96000
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3. 96500 . 96550 . 94500 <. 96000
Inverse of resistance is called :

A. Conductance B. Resistance

C. Good conductor D. None
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For strong electrolytes Am:

A. increases on dilution B. decreases on dilution
C. remains constant on dilution  D. all
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Chemisorption is :

A. lrreversible in nature B. Reversible in nature
C. Arises due to Van der waals forces

D. Depends on nature of the gas
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Chief ore of Iron is :

A. Magnetite (Fe,0,) B. Haematite (Fe,O,)

C. Siderite (FeCO,) D. Iron pyrite (FeS,)

Al & = D B
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9. Riswige (FeCO,) <. 3N UTsRIse (FeS,)
Which type of ore can be concentrated by Electro-magnetic
separation method

A. Non-maganetic particles B. Magnetic particles

C. Sulphide ores D. All the options
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Copper matte contains :
A. Cu,S and Cu,0 B. Cu,S and FeS

C. CuS, @1 Fe,0 D. Cu,S and Cu
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10. Group 15 of Periodic table includes Nitrogen and
A. Oxygen B. Phosphorous C. Carbon D. Argon
mﬁwﬁfﬁngﬁ:ﬁaﬁwzﬁaﬁﬁaﬂaﬁﬁwaﬁ%?
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11. d- block elements are also known as :
A. Transition elements B. Typical elements

C. Non - transition elements D. Alkali metals
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12. ZiNGisa&:
A. Transitioin element B. Lanthanide
C. Normal element D. element of s - block
5P & Ub :
31, HehHUT I g, olRIIge
H. WE T g, s- &P Pl axd

13 Mn* is an oxidising agent because :
A. half filled t,_ level B. Completely filled e, level

C. empty d - orbital D. all
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|.U.P.A.C name of K, [ Zn(OH),] is :

A Potassiumtetrahydroxozincate (l1)

B. Zinc di - hydroxide C. Zinc hydroxide potassium

D. None

K,[ Zn(OH),] @1 L.U.PA.C B
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Double bond in Alkenes are detected by adding

A. liquid Co, B. liquid Br, C. liquid chlorine
D. Baeyer's Reagent
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The stereoisomens related to each other as non - superimposable
mirror images are called

A. diastereomers B. enantiomers

C. chiral compound D. Racemic mixture.
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Chloroform on treatment with O, in presence of light gives :

A. Phosphene B. Phosgene

C. Phosphorescence D. Methane
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Alcohols and Phenols are formed when one of the hydrogen atom
of Alkane and Arenes are replaced by which group?

A. -Cl b. -OH C. -CHO D. -COOH
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A. -Cl b. -OH C. -CHO D. -COOH
Glycerolis a:

A. Monohydric alcohol B. Di-hydric alcohol

C. Trihydric alcohol D. Tetrahydric alcohol
ferasiel & ¢
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Simplest hydroxy derivative of Benzene is :

A. Propanol B. Phenol

C. Benzylalcohol D. None
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IUPAC name of the compound CH3'©-CH3 is.

A. 2, 5-dimethyl Phenol
B. 1-hydroxy-2-methyltoluene
C. 1-Hydroxy-2, 3-dimethylbenzene

D. Hydroxy dimethyl benzene

OH
|
CH,- - CH,
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Chloroethane on reacting with ammonia gives :

A. Ethanamine B. Propanamine
C. Benzylamine D. Ethane nitrile
FART 32, AT | rfAferar & <ar € ¢
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24.
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26.

Amides on reduction with I-_iAIH4 gives.

A. Alkanes

vrgs LiAIH, & rgdd & @ o 8

3. Uehd

B. Alkylamines

g. Ufcrel THIA

IUPAC name of HCOOH is :

A Ethanoic acid

C. Methanoic acid

HCOOH @1 IUPAC M % :

3. TAAIH 3+
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IUPAC name of oxalic acid is :

A. Methanoic acid

C. Ethanedioic acid

aitaoifers aret @1 IUPAC 9 ® -
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The formula of Methylnitrile is :

A. CH,NC

B. CH,CN
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A. CH,NC

B. CH,CN

C. Alcohols

. Uchlald

B. Formic acid

D. Oxalic acid

q. BIfdd 2l
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B. Ethanoic acid

D. Benzene

4. SAAISH v
T of~T

C. C,H,CN
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D. Acids

<. 3P

D. C,H,NC

D. C,H,NC
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Simple Carboxylic acid are soluble in water due to formation of :
A. Co-Valent bond B. Hydrogen bond

C. lonic bond D. None
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The formula of fructose is :

A' CGH‘IZOG B C12H22011
C. GH,08 D. C,H,O,
RIS PTG

A‘ C6H1206 B C1.2H22011
C. O.H.O5 D.CHO,

Carbohydrate that yields three to ten mono-saccharides units on
hydrolysis are called.
A. mono-saccharide B. Oligo-saccharide

C. Poly-saccharide D. Di-saccharide

FraEESe Sl Sielifehd BIHR 19 ¥ & AFRIaRIgS ATl 2 99 Fed § ¢
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Amino acid contains two functional groups, one is -COOH and other
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A. -OH B.-NH, C.-NH, Bk (I?IH4
Polymers of a-amino acid is called :

A. Protein B. Peptines C. Peptides D. Dipeptide
y—ariET ar B R @l av_éﬁ g
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Polythene is a polymer of ?

A. Ethane B. Ethene C. Ethyne D. Propene
e frvrT 9gad © 7

31, 3A= 9. 320 . gARA T. UIaH
Rubber, Starch, Cellulose and Protein are

A. Synthetic polymers B. Natural Polymers

C. Semi-Synthetic polymer D. None

&R, weTd, gl T WfeT €

SERSEGIE GRCIIEN g, yTfas dietl R
1. arifere wealfde dreliR g, By 8l
Buna-N and Buna-S are the types of

A. Natural rubber B. Synthetic rubber



C. Polythene D Bakelite
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35. The drug used to reduce fever is known as.

A. Antacid B. Analgesic C. Anti-pyretic  D. Anti-biotic
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SECTION-B (Non-Objective Type Questions)
Wus—q (R—aIe ue)
Short Answer type questions
IR T
In this Section, there are 18 Short answer type questions (each
carrying 2 marks), out of which answer any 10 questions.
e s % 16 T S e & (red B R < of PR ), R ¥
fopest 10 UEAT BT STR < ARl B |
1. What do you mean by Frenkel's Defect ?
el 1Y W MY RN A & ?
2. What do you mean by an Ideal solution ?
el e A 3T FT FHS § 7
3. Define Osmotic pressure ?
URTAROT &4 T afTfie e ?
4. Why Copper sulphate is not stored in zinc pot ?
PR wede @ e ar # @t g S fear i g 7
5. In Nernst equation E = E° - % lnill\%],] R and F stands for ?
e wliewor E=E0- B ingy, | ¥RaRFam & ?
6. Define Cell constant ?
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What are Enzymes ?

TRITeH RIT & 7

Why does PH, fumes in moist air ?

PH, 3t arg @ W g 9411 8, 4 7

Why H,O is liquid and H,S is gas at room temprature ?

FR @ AIEE R H,0 el 8, Srafes H,S T g, 74l 7

On what ground you will séy that, scandium (Z=21) is a transition
metal ?

W e P SR A PR Y h) b, THFeTH (Z=21) U A axd 87
Which ore is stronger reducing agent Cr?* or Fe?" ? Explain.
Cr2*gen Fe # 9 HIF Udel AqHRS 8, AR o |

What do you mean by inner-transition elements ?

AT SATTR—WEHHI Ted | FAT TS § 7

What do you mean by co-ordination number G

el ver | Sy a1 wHe € 7

Define Bidentate ligand ?

frawR feritus ¥ omma T WA & |

Aldehyde on oxidation will give ?

Ifeeerzs & sifadiexer & @ fAerdr 8 ?

Name one water soluble and one fat soluble Vitamin.
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Define molality and mole fraction
Trerera Ud AreRdr @ aRMTEr < |

Differentiate between Condensation and Polymerisation.
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Long answer _type question
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There are 06 long answer type questions (each carrying 05 marks),

out of which answer any three questions. (5x3=15)

Wwﬁoaéﬁwﬁnmﬁrﬁnﬁ%(ﬁﬁ%ﬂoswﬁuﬁa%t)
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Find the order of reaction of the following :

A. Rate = K[A]"2[B]™

B. Rate = K[A]"?[B]"
ﬁmﬁ@ﬂmﬁmuﬁmaﬁﬁ%ﬁmﬁ:—

A. Rate = K[A]"2[B]™2

B. Rate = K[A]"?[B]"

Write in brief about how Sulphuric acid is manufactured by contact

process ?
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What happens when

(i) Concentrated H,SO, is added to Calcium fluoride and heated ?
(i) SO, is passed through water. -
(i)wﬁwﬁmqﬁ?@ﬁmmé}aﬁ?nﬁﬁmm
g7

(ii) SO, P vt ¥ e e Wi & ?

\Write the electronic configuration of the following :

A. Cr* B. Cu* C. Co#* D. Fe* E. Mn?*

[Atomic number of Cr = 24, Cu =29, Co= 27, Fe = 26, Mn = 23]

FrafoRad &1 geragite o= ford |

A. Cr* B. Cu* C. Co* D Fe*' E. Mn?

[Cr, Cu, Co, Fe Td Mn @) URHATY] HEAT HA: 24, 29, 27, 26 g 25 ® ]
How will you convert the following?

a. Methane to Ethane

b.  Ethanol to Ethyl acetate

@, Metane to Chloroform

d. Ethanal to Ethanoic acid

e. Acetic acid to Methane

ferforRaa @1 oo uRafda e¥?
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Write short notes on -

a. Inductive effect

b. Resonance
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